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500
H15 | H16 | H17 | H18 | H19 | H20 H21 | H22 | H23 | H24
4138 | 4151 | 4148 | 497 | 4107 | 4178 | A819 | 4222 | 4194 | 4202 | 4201 | 41,638
72 76 32 30 30 30| 270 83 ‘ 85 ‘ 100 | 100 638
A66 | A75 | 4116 | A67 | A77| 4148 | 4549 | 1139 | 4109 | 4102 | 4101 | 41,000




H16

H15 16
A
A
A
100 A
. N
H16.4
( )
H15
4,526 1,153,122
4,001 761,503
!
761,503x40 10,000 = 3,046 3,046 4,001= 11,045 A,
10 (H6 H16) (H11 H1e)
A A
A A
A A
A A
]
500 ( H16) a11% H17 Ho4
A A A A N
500 ( H16) 420% ( H17 H24
A A A A A
H17 18 A 1.9%(H15- H16 ) H19 A 1.0%(
H14 H20 H24
4,555 3,961 3,806
573 273 273
5128  4,234(a17.4%)  4,079( A 20.5%)
! !
H14 5,047 4,167(A880) | 4,012( A 1035) N

H14

A17.4%

H14

A 20.5%




